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Space for Rough Work

NMMS (E)

NMMS (E)
ENGLISH Roll No.|_| HEEEEE RN

NMMS - NOVEMBER, 2016

MENTAL ABILITY AND
SCHOLASTIC APTITUDE TEST
Time : Part -1: 90 Minutes ' Max Marks : 90

Time: Part-ﬁ - 90 Minutes ; . Max. Marks : 90

Inetructwns to Candldates

& Read the fo]lowmg mstructlons carefully before you answer the questlons Answer%

are to be SHADED ona SFPARATE OMR Answer Sheet ngen, with 1 HB Peneil. -
Read the Instructmns pmnted onthe OMR Sheet carefully before answe:mng

' the quest 1 ns

1. Please wr1te your Center Code No. 2 The Test is in: TWO Pa1 ts: Part I V
and Roll No. very clearly (only one
digit in one block) on the OMR Sheet.
as g’ivén m your:admission card.
Pleage see that no block is left unfilled

and even Zel 0s’ appearmg in the

‘consmts of 90 questlons and

Part-II also consists of 90 questions.

3:-All questions in Part-] and Péz'tflI

Center Code No. are coxrectly‘ carry one mark each.

transferred tothe appropriate blocks
ort the OMR Sheet as shown in the = % Since all quéstions’are compulsory,

eﬁample givenin the OMR Sheet. For - "donot try to read through the whole
all subsequent purposes, your Center qﬁestion paper before beginﬁjng to
' Cde No. and Roll No. shall remain answer it.
the same as given on the Admission ;
Card. B
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Begin with the first question and
keep trying one question after
another till you finish both, the
Parts.

Ifyou do not know the answer to any
question, do not spend much time on
it and pass on to the next one. If time
permits, you can come back to the
questions which you have left out in
the first instance and try them dgain.

Since the time allotted to the two
parts of this question paper is very
limited, you should make the best use
of it by not spending too much time
on any question. :

A blank page is provided for rough ;

work at the end of each part.

REMEMBER, YOU HAVE TO
SHADE, ANSWERS ' ON A
SEPARATE OMR SHEET
PROVIDED.

12]

NMMS (E)

10. Answer to each question is to be

11

12.

13

indicated by SHADING the circle
having the number of the correct
alternative in the OMR Sheet from
among the ones given for the
corresponding question in the
booklet.

Now turn to the next page.and start

answering the questionsg,

After the examination, you should

hand over the OMR Sheet to the

Invigilator of the room.

The candidate need not retuz?n‘ythis
Question Papér booklet and can take
it aftel_r the completidn ‘of ‘the

examination. No candida‘te,éhould

leave the examinatioh hall before the

end of the examination -

NMMS (E)
PART -1

 MENTAL ABILITY TEST

Time : 90 Minutes
Max. Marks : 90

Note:- SHADE the correct alternatives in the OMR Answer Sheet

KB-11

provided, from amongst the ones given against the
corresponding questions in the Question Booklet. For shading

the circles, use a HB Pencil.
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NMMS (E) , ' ' NMMS (E)
’ Direction : : ' 6 7,381,211, :
Questions (1 to 10) : :
In the number series given below, one (1) 2311 -
number is missing. Each series is 2) 2211
followed by five alternatives (1), (2), (3), ) 2561
(4) and (5). One of them is the right -
answer. Indicate it as per the (4) 2781
. S v Instructions". : ‘ (5) 2111
1. 71695, 1700, 1710, 1727, 17@3, ........ .
(1) 1760 o 7. 24,60,96,132,.......... :
(2) 1790 1) 126 ~
(8):1780 : @ 152
@A ® 144
(5).1800 .
- (4) 168
2. 55,66,187, 200,369,386, ..........
@ 675 «('5))135 :
(2) 575 8  7,6,10,27,104, ........
(3) 475 ‘ | «
(4) 875 , : (1) 520 =l
(5).975. ; (2) 420
3. 2,12,36,80,150, ... - B 515
(1) 242 ‘ S : § (4):525
2 262 L (5) 456
(3) 252 ' : : _ _
(4) 232 . ’ 9.. 1,5,15,34,65,.........
(5).272 ' (1) 111
4. 20,141,310,599,960, 1489, .......... (2) 125
(1):2430 (3) 117
(2):2330~ @) 126
(3) 2230 ‘
(5)- 2530 : .
] 10.0,7,26,63,124, .........
5. 0,10,34,78, ........ 1 @wie
(1) 135 2) 135
(2)-148 (3 215
(8) 156
) 102 (4) 211
(5) 124 (5) 256 v
KE - 11 141 KE.11 5] ) [Turn Overl




Direction :

Questions (11 to 50) : Read thé

- following information carefully and }|

answer the questions given below.

11. If code of BOARD is CPBSE, then
code of CHAIR is ............

(1) DJBS o
(2) DIBJS
(3) DIJSB
(4) DISJB
(5) DIBSI

12. If code of BHOPAL is EERMDI,
then the code of NAGPUR is
(1) QXJIMXO
@) QXIMXQ .
(3) QXMJIXO
(4) QXIMXP
(5) QMIXOP

13. MONKEY is coded as XDJMNL,
then code of TIGER is...........00

(1) QDFHS
(2) SDFHS
(3) SHFDS
(4) OJFHS
(5) SHSFD

14. Code of APPLE is 50, then the code
of ORANGE is ............ )

(1) 60
@) 70
(3) 80
@) 50
(5) 40

KB-11 | 161

15.

16.

17.

NMMS (E)

If CIRCLE is eoded as DKUFNF, |

then the code of SQUARE is ........ e
(1) TSXDFT
(2) TSXDTF
(3) TXSDFT
(4) TXDTFS
(5) TXTDSF

If BINARY is codedas DHPZ TK,
then how will KIDNAP be coded?
(1) MKFPCQ

(2) MHFPZQ

(3) IKFMYO

4) MHFMCO

(5) MEKJKLM

If RASCAL is coded as QZRBZK,

’ then hOW Wlll SOLD.ER be coded"

18.

(1) RNMEDQ
(2) RPKEDS
3) TPMEFS
(4) RNKCDQ
(5) RNJEQD

IfMAPLE is coded as VOKZN, then
how will CAMETL be coded?

_ (1) OVNZF

(2) OUNZX
(3) OVNZX
(4) XZNVO
(5) ZNXOV

[f‘ CRY is Coﬁed as MRYC, then how
will GET be coded?

(1) MTFG

(2) MGET

(3) MFGT

(4) METG

(5) MKLN

20, If BURNER is coded as CASOIS,

J+then how will ALIMENT be coded?:

(1. BKILEMU. .
(2) EKOLIMS
(3y EMONIOU
(4) BRJSFTU
(5) EOKILSM

Dlrectmn
Questions (21 to 30) : These questlons

inyvolves, letter codmg, number coding.

and m1xed codmg ‘ach letter i ina word

- is replaced by certzim other alphabet
- number according to a spec1ﬁc rule:

21. ROMAN:QMONA::ITALIAN:

(1) JUBMJBO
" (2) HSZKHZM

(3) HATLIBM

(4) HATILNA
(5) LATPQRS

22. FORMS :FPTPW . : CONVICT:.....
(1) CPPYMHZ
(2) CPOWJDU
(8) CPPXKEV
- (4) CPPYLFW
(5) COPJWUD

EB-11

23.

24.

25.

26,

27,

NMMS (E)
SECOND: ARDBNMC : : FINISH.: ...

(1) EHNJRG
(2) EHOJISG

- (3) EHMJTI

(4) EHMHRG
(6) EMHGRH

DONKEY : XDIMNC :: ZEBRA : ....
(1) YDAQZ L

(2) ZQADY

(3) ZDAQB

(4) ZQYDA

(5) ZYQAD

WINNER : ZLQQHU : :LOOSER: ...

(1) MPPTFS

(2) MQQUGT .
(3) OPPUFT
(4) ORRVHU

(5) ORVRUH

SINGAPORE : NISPAGERO : :
GUJIRAT : ..o

(1) UGRJTA

(2) GURJTA

(3) GJURTA

(4) JUGTAR

(5) TARGUJ

RADIO : UCHKT : : AUDIO : ..........
(1) CVHKT -

(2) BWHKT |

(3) DXHKT

(4) DWHKT

(5) DKTHW
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28. GOLD:SKNV ::SILVER: ...........
1) TIMWES '
(2) RHKUDQ
(3) LISREV
(4) GQNDUH
(5) UKDQRH

Wi

29, REGARD:TCIYTB:: THANKS: ...
" (1) UIBOLT :
(2) SGZMJR
(3) VECLMQ
4) VICPMU
(5) MZJRGS

30, SYSTEM:TAVXIS:: POLICY ..

(1) QPMIDZ
(2) QQNKEZ
(3) QLOCIE
- (4) QQOMIE
(5) PQMJIDZ

Direction : :
Questions (31 to 40) : In each of the
following guestions a letter-series. is

given, in'which some letters are missing;

The migsing letters are given'in the :

properb sequence - as  one of the
alternatives. Find the correct alternative.

31 a_c_abb _a_bc_be_ab
(1) cheaa '
(2) bcecab
(3) beeace
(4) achabe
() aaabbb

32.

33.

34.

35

36.

KB- 11 (8]
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b_ac_cc_cb_ab_ac
(1) cbaba
(2) bbaac
(3) abbbe
(4) aabba
(5) aaabb

c._.ac_aa_aa_bc_bcc
(1) cabba
(2) ccbbb
(3) bbbbb
(4) ¢bach

() aaabb

abc . dibeid-
(1) bacde

@) cdabe

(3) dacab

(4) dccdb

(5) dccab

b _cda

ba_b_aab_a_b
(1) abaa

(2) abba

(3) basb

(4) babb

(5) -aaab

gfe _ igooejifeviigl i1
(1) eifgi
(2) figie
(3) ifgie
(4) ifige
(5) gfiie

37. " _bbca _beca_ac_a _cb
(1) abcba
(2) acbab .
(8) bacab
(4) beaajb
(5) abcba

38, a_ caﬁ_bc_bcc_bca'
(1) bbaa
(2) bbab
(8) abbb
" (4) baba
(5) aaab

39, a_ bbc “aab cca- bbce
(1) bach
(2) acha
(3) abba
(4) caba

-(By aaac .

40, -ac: cab ﬂ_baca ~aba acac

(1) aach '

. (2)-ache

(3) babb

(4) bcbb

(5)  aaab
Divection : - : ,
Questions (41 to 50): In the following

alphabet series a term is missing as |
- shown by question mark (?). Choose the

missing term from the options.
41. eac, gce,ieg, ?

(D jhi

(2) jgi

(3) kgi

(4)-khi

(5). mhj

CEKB-11

42,

43,

[9i

44,

45.

46.

MMBMS (B)
ejo, tyd, xch,»? '
(1) nrw
(2) mrw
(3) msx
(4) nsx

~ (5) klm

975, TYT, 14X9, 23W11, 34V13, 7
(1) 27024

© (2) 47015

(3) 45U15
(4) 47V14
(5) 36U35

9A11,4D18,12G17,7

(1) 36119
©) 48321
(3) 36J21
(4) 4823
(5) 47125

C4X, FOU, 116R, ?
(1) K25P
(9) L25P

©(3) L2560

(4) 1L.27P
(5) L.26P

Q1F, 82F, U6D, W21C, ?
(1) Y66B

(2) Y44B

(3) Y88B

(4) Z88B

(5) X77B
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47. A, CD, GHI, 2, UVWXY -

(1) LMNO
(2) MNO

(3) NOPQ
4) MNOP
(6) KLMN

48. D—4,F-6,H-8,J-10,7,7
(1) K-12, M-13
2 1-12, M-14
(3) L-12, N-14

4) K~12,M-14 . 52.

6y K=11, M-~15 "~

49. J27, K4X, 17V, 2, H16R, M22P
~(mmr '
(@) L11S
© (3) L12T
@ L11T
(5) L13T

50. KM5, IP8, GS11, EV114,?
(1) BX17
(©® BY17

(8) CY18 ' - 183,

4 CY17
(5) DY16

Direction :*

Questions (51 to 60) : In sach of the
following questions a set of figures
carrying certain characters is given.
Assuming that the characters in each set

follow a similar pattern. Find the missing

character in each case. ’
KB-11 [10]
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) 14
(@) 22

(3) 32

T (4) 320

(5) 46

13 - 15 36

28
(1) 18
(2) 90
(3) 108
" (4) 28
(5) 42

54 45 63

(1) 8
29
) 10
@11
®) 12

e

(1) 60

@) 50
3) 25
@ 21
(5) 24

(1) 47
@45

3 37

@ 35

() 55

N6
A

56. 3

64

25
H1

(2) 2
33
(4) 4
5) b

KB- 11 (11}
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57. | 5
32 ?]44‘7!

1) 6~
@7
@) 8
@9
(5) 10
1 3 1

59,
i B S

(1) 660
(2) 670
(3) 610
(4) 690
(5 680

(11,1
- (© 2,2
(33,3
4 4,4
B) 5,5
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Direction : ‘ 64. How many triangles ) - 68. How many tl'ﬁangles 72. Problem Figures
i 1 : : are there in the are there in the . ' 1T
‘Questlons (61 to 70) : Answer the ’ " o 5 adjacent figure? 4 v ?
following as per the given instructions in adjacent figure: S (D) 18 >0 H Y A= 478
: . ‘ 1 10 ' &) B . ©C O
the following questions. 9 11 N (2) 24 ‘
61. How many - . (_) 11 (3) 21 Answer Figures
. circles are 233 2. : ' 4 20 A a fa) =71
; 4) 13 5 -+ = < < (s
there in the (5) 14 : , ; (‘))_ 16 : % % % b X
adjacent 69. Count the (1) (2 3 G )
figure? ' , : number of C ~
W " 65. Count the - - triangles in the . 73. Problem Figures Ll
@16 number  of /< e admemt e Sl P~
3) 15 e K . triangles in the R k gi ?1 h{ Fg @ ?
4) 10 . adjacent figure.. '(3) ot A ® (© D
( , v (1) 22 A ’ ' : '
(5) 12 (@ % : 4) 27 - R Answer Figures
62, Count the cubes in the gi’ : : g : (5):26 . : : - - e
iagram : W 30 e ; 70.  Count the number V‘ e NP < :
5) 25 G oovoftmanglesinthe TR L @ @) @y @ ()
' ‘ , ' adjacent, figure: }AVA el b o S
’ B : ' (1):20 , 74. Problem Figures S
 66. How many (224 i S e
triangles - are (3) 22 SR , 2 ST o
there -in’ the W26 T @’ . O
: . ‘ : 5).25 :
(1) 58 : adjacent figure? : ( ) v Answer Figures
(2) 57 (1) 22 glrecﬁmn: (71 to 80) : Each of th | G| k] (O A
' uestions 0 : Bach of the : ?
(8) 59 o : ' (2) 24 following questions consists of two sets of r‘i— i T S
(4); 56 : . ) (3) 26 figures A;B, C and D constitutes the'| a 2 3) 4y
5 e ; ) ( . 5
: B 55 (4) 28 - e : problem set while figures 1,2, 3;4 and 5 ;

63. How many squares are there in the (5525 .~ Sy : constitlltes the answer set. Select a 75;°_ Problem Figures :
\diacent figure? ' , S suitable figure from the answer figure -
adjacent figure e : S that would replace the question mark (7). ‘ Q > <> 7.

’ 67. How many triangles ‘ . L e ‘ ‘
. are there in the 71 Problem Figures® @ B ) D)
adjacent figure? - ‘ . { ﬂ‘{‘ ’ (3 & 9 Answer Figures N
@ 15 | » @516 = A A 1> A
g ;g ' ) 15 ' Answer Iligures »o@ @ @ o
) 16 @) 17 o & | %;% M | &=
(5) 22 (5) 18 ; w @ B’ @ o

KB 11 12| KB-11 [13] [Tura Qver]




76. Problem Figures

A4 ]|D

@’ ® ©

Answer Figures

)

4@

b
3

NMMS (E)

80. Problem Figures

(o) |G 4| 7

@ ® © O

Answer Figures

b))k |k |k

w @ @ 4) 5

€] @ 4 5
: Direction :
- 77 Problem Figures Questions (81 to 90) : In the following -
IS 9 questions, there afe5problemﬁguresA,
(A) (B) ©) D) B, C, D and E. Which among the five
! o answer figures should be the sixth figure
Answer Figures : = ;
' e , “| of the problem’ figures to continue the
N § S & sequence?
(_1) @ (3 @ ® 81. Problem Figures- )
s : 8 NE b - 1
78. - Problem Figures i 2 M ' r \‘/
=~ V= 5 @ ® © O €
TdhL jZE ) W © O ®
@“» ® © O Answer Figures
; , T
« Answer Figures 3 ’ A © ¢ , .
1 [2=F] (2 S N N
SRR E oo @ @6
o @ @ @ B ' :
79. Problem Figures 82.  Problem Figures .
<& ; 0o Al Q= ?2ix =|A X
03 ? = X AN U
(f g~ ) X =lA xiO . A7 O= 7
(A) ®) ©) @O (A) ® © O ®
Answer Figures Answer Figures
: « A Olg Al AX O =
g i rdile 7l 2 2| = | O
v ® ® @ ® xo=lx =lo x]? o 7
. @ @ @ (5)
KB-11 . [14]

' 83. Problem Figures

+ S T N
- o~ o o om O
ADSADSGANS T8 ©

@w ® . O &

Answer Figures

“AHA~F] DAJA- [+ - A
o oo e —0 o0 O

| o |eot®e |@
n @ ® @ ©®

84. - Problem Figures

=
%%%%@%%%@

W ® © O ®
Answer Figures : :
WO® i%‘ B

(L (2) 8 . @ ®)

85. Problem'Figures
e e-vle Xi.e|e X -xbe X Xper XX
.‘ @ el8 o e . 8 .8.10 ® e'{X e o
‘o -"o ° o la e .6 pa X . X

@ ® O O E

Answer Figures

axxoxxnxxexxaxx
XonxeoXaxxeXXax
N X e X a o pE X
X - .

T @ ® @ ®

86.  Problem Figures
) T o} S O =
o] T 0 s o}
iy R 3 ox C
X ] hd C X

® ® © O E

Answer Figures

87. Problem Figures

NMMS (B)

WYSE;}Ay

Ol e

) ® (©

Answer Figures

o (B

[yS o

L @ 3

88. Problem Figures

e

89. Problem Figures

A By (© D E)
' Answer Figures ‘
@ ® @ e

@) By ©

Answer Figures

D) (E) .

@ @

_»O' L L . o

X X X 4 C

o @ ®

@ 6

8¢, Problem Figures ’

B RS o et ;e B

- At e wle wit 0|
LA B O D) (E)
Answer igures )

a8 R RIS o8lod Blcs U8

ﬂg\>i€—f>9/) wie ol k;;gégg

(4) (5)
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MS (E) B ’ NMMS (B
Space for Rough Work ‘ :

PART - 11 -
SCHOLASTIC TEST

Time : 30 Minutes
- Max, Marks : 90

Notes :-

(i) Subjects, Question Sr. No.and Mafks allotted:

D thsics : 91 t0'102 ques’tion’s 12 Marks

(2) - Chemistry - ’103 to 113 questions 11 Marks
3 Biology g 114 t0 125 questionsk 12 Marks

4) Ma’thematicvs o IZé to 145 qu'e'stioné' Ln20 Malks

(5) I—IiStOry : 146 to 155 questions 10Marks

(6) Geography e 15_6'1;0 165 questioris 10 Marks |

- Political Science 166 to 175 guestions 10 Marks

(8) Economics  176t0180 questions 05 Marks

(ii) - SHADE the ,éirde having the correct alternative in the

OMR Sheet provided; from amoﬁgst;the ones given against the

cérresponding question in the Questidn Paper Booklet. For

shading the circles, use a HB Pencil. .

KB-11 ~ [16] ; ' » ; KB- 11 - [17] ; [Turn Gver]
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91.

92,

93.

KB-11
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PHYSICS

Which one of the following is NOT a
field force (acting at a distance)?
(1) Magnetic force

(2) Muscular force

(3) Electrostatic force

(4) Gravitational force

Which one of the following
relatively is having maximum speed
value?

(1) 26 m/s

(2) 90km/s

(3) 1.5 km/minute

(4) 25 m/s ’

A boy travelled towards north 8 km
- frompoint A, as shown in the figure,
_.then he took a turn to east and

travelled further 3 km and again he
took a turn to south and reached ‘B’

by travelling 5 km. The |

displacement of the boy from A to B
journeyis........... km. -

N 3km
W 5$‘“£}**“Ei

; 5 i 5km

8km

1 132
@) 342
(3) 23 A

@ 94i3 ﬁé

94.

95.

96.

[19]

When a thermometer is placed in
warm water, the mercury thread

. 2 .

rises by — part of divisions from
0° to 100° (length) on celsius scale,
the temperature of water in
fahrenheit scaleis......... ‘

(1) 40°

(2) 80°

(8) 2120

(4) 104°

The frictional force exerted by the
fluids is generally calledas ...............
(1) drug

(2) rag

(3) drag

(4) grad

If AB is representing reflecting.

surface such as mirror, then which
of  the following represents
CORRECT? (Where i is angle of
incident, r is angle of reflection and

N is normal line)

Tarn Over]




97. The average velocity of an athelete,
completing one revolution with
90 kmph with constant speed along

a circular track of radius 14 m

(1) zero
(2)-10 kn/hour
(3). 40 km/hour
(4) 72 wm/s

In which one of the following
conditions; the net force-on a body
isnonzero? il

98.

(1)' If the body- is in nonuniform
motion

(2)" If the body is in uniform motion
(3) Ifthe body is atrest ‘
(4) In all the above 3 s1tuat10ns

99,
is given. Which one of the following
is the CORRECT representation.of

FBD of M kg block?
MKg h
\La
MK% ’
T ?Mﬂ}
@ | @ | |
&Wg M
N
(3) k_ﬁ ) \ e
. o
%M% ’

KB-11

As shown in the ﬁgu1 e, the system,

NMMS (B)
100. As shown in the figure, 3 forces
actingbon a block, so that the net
force on the block is zero. Then the

valueofxis ..........

)
rm— TN

T—"

XN

(1) 17N
(2) 34N
(3) 8.5N

(4) zero

101. Which one of the following is NOT a
characteristié of: meréury, which is
used inthermometers?

(1) Tt do not sticks to the sides of the
wall of thermqméter '

(2) Ttis a good cbnductor of heat

(8) It is having 'me‘:tallic shining

4) Itis transparen‘t like glass

102. In a 4 hours joﬁrney by a car, it
travelled with 50 kmph constant
speed for first 2 hours and with 37.5
kmph constant speed for the next
two hours. Then what is the total

total 4 hours journey? ;
(1) 1756.m :

© 175,000m

(3) 1,86,000m

(4) 186 km.

distance travelled by the car in that

NMMS (B) -

CHEMISTRY

1063. Which is the most common
substance that can be used to put
out 'ﬁré?

(1) Wood
(2) Petrol
'(3) Sand. .

(4) Kerosens

7104. Why is Rayon used as a fabric for

dress materials? .

). Soft

D) Silky
i) Moisture absorbent
iv) - Donot catch fire
(1) i, i, i andiv
(2) i, 11, iv.only

(4) i, i, iii only

uﬁ&ergone by ignition of a cracker?
) ”Explosi{fe comibustion

(2) Spontéﬁedus combustrion

(8) Rapid combustion

(4) Slow combustioh

KB-11

. What kind of combustion is'|

[21]

106. A coating of melamine, plastic
 used for which of the following
purposes?
(1) Fireproofplastic
(2) Good conductor of heat
(3) Remouldable
(4) Stroug axnd flexible 5

109. Aluminium 1s a metél, but which ”
one of .the following metallie
properties is NOT exhibited by -
Aluminium?

(1) Malleability

(2) Ductility

(3) High density

7 (4) Good conductor of heat and

electr1c1ty

Study the characteriétics kof a fuel

given below:

108.

0

1. Highest calorific value

% “Forms' water vapour . on

- combustion
% Nonpolluting:
% Limited use as liquid fue] .
Among the following faels, which
one has the above characteristics?
(1) Kerosene :
(2) Petrol
(3) LPG:
(4) Hydrogen

[Turn Over]




109.

Why is a flame always pointed

upwards?

i) Gases preduced in flame are

cold

i) - Gases produced in flame are hot |

ii1) Hot gases are lighter and rise up

iv) Becausé the wick of the flame is

always directed upwards

'(1) iand iionly

(9) i and ifi only
(3) iii and i only

(4) i, i and iii

110. Match the following
a) Venigar i),, Oxalic acid
'b) Orange i) Tartaricacid |

‘¢) Tamarind

iii) Aceticacid

d) Tomato iv) citric acid

1 a-iv, b~i, c¢—i, d-iii

(2) a—iii, b=iv,. c~ii, d~i

(3) a—iii, b ii,

(4) a—i, b-—ii,

KB-11

c—iv, d—1

¢—1ii, d-~iv

111.

S (@) It

112,

113.

[22]

NMMS ()
CNG is now-a-days used as a fuel for
transport vehicles and is much
preferred over petrol or diesel,
because : ‘
(D It is a renewable source of

energy

(2) Tt'is less polluting‘ than petrol

and diesel

(3) It canbe compressed under high

pressure:

undergoes - complete

combustion

A FALSE statement among the

following ié :

(1) Plastics are eco friéndly ,

(2) Teflon is a special plastic on
which oil and water do not stick

(8) PVCis mainly use(i for electrical

and sanitary fittings

(4) Nylon fibre is strong, elastic and
light in weight

Name the chemical used to test the

presence of CO, in exhaled air:
€] Limé water

2 Leﬁon juice

(3) Lime stone

(4) Quick lime

;| b) Bacteria

114. History of science written by

NMMS ()

BIOLOGY

(1) Robert Hooke

(2) F. Cajori

(3) Karl Popper

(4) Einstein

1158. Amoeba keeps on changing its

shape varying protruding out of its |

body. The‘_se arecalled...........

(1) tentacles. -

(2) cilia.

(8) pneumatophore:

) pseudopodia

116. Match the'item in column=—1 with

column—I1

'Column-«l .

Colurma-T§

a) Virus

i) Some skin diseases

'¢) Fungi

i) Malaria

i) AIDS

| d) Protozoans’

-iv): Typhoid

KB.11

Select the correct answer

(D a—iii, b~iv, ¢—i, d~i

(2) a~1ii, b~ili, ¢—i, d-—iv

(8 a~i, b-iv, ¢—ii, d-iii

4 a—iv, b=ii, c—iii, d~1

(23]

117, Pasteurization led to the invention

118.

118,

(1) transpiration
(2) inoculation
(3) vaccination

(4) sterilization

Method employed by childless

couple to have baby ......
(1) in vivo fertilization
{2) in vitro fertilization
3) ovi'pé.roﬁs method

(4} viviparous method

Identify the secondary sexual
characters not found in girls from

the following :

(1) Ovary enlarges

(2) Development ofbreast
(3) Facial hair

(4) Releasing mature eggs
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120,

121.

‘("2)';Animélls wéré making. the air

KB- 11

Now-a-days - we find -animals.
intruding into our living places.

Because of ..o

(a) lack of dwelling place.
() lack of sufficient food.

(¢) lack of interest to live in wild:

(d)- lack of predators:

Choose the correct answer.

@ (@), and(@

@ @ Gand©

(3 (a),(c)and (d)

@ (), (c)and (@)

Choose the CORRECT;"s"tatemént’ '

as'per Priestley’s demdnstration.

(1) Plants were making the air |
impure, animals were making it |

. pure

impure; plants were making it

. pure. 125.
(8) Plants exchange gases with
their surrounding air.
(4) The plant grows because of the
pure water it gets. SR '
[24]

122.

123.

124,

NMMS (B

Choose the INCORRECT pair.
(1) Fish - Gill
(2) Tadpole - Gill

(3) Cockroach . — Tracheal Tubes
(4) Farth Worm — Gill

Which one of the following is an
unisexual flower?

(1 Datura

(2) Cucumber

[€)) Hibiscus

(4) Tpomea

To conserve soil, ’Which method do
you choose?

(1) Leave the lands va;anf'

(2) Avoid crop rotation ’

(3) Use more chemical fertilizers

4): Use vacant lands to grow grass

To avoid constipation, which type of

food do you prefer? :
@) Junkfood
(2) Cakes

3 Roﬁghages

(4) Oil food

127.

128.

KB -

MATHEMATICS

126. J(1x2x3x4)+1 = 5,

AJ(2x3x4x5)+1 =11,
J(3x4x5x6)+1 =19

ete, then the vaiue of

J(BOXB1x52x58)+1 = ...

() 2751
(2) 2651

(3) 2431
(4) 2851

4x2 + 236 = Ty8, 422 and Ty8 are

three digit numbers, 7y8 is a

TEor ol poei2y ot ops

then thevalueofx = ...

10

21
3 2

4y -1

11 (251

NMMS (E‘)

129. If x®+1=2x, then the value of

(15

@6

130.

(3) 4

4) 8.0

If 888889%+6666677111112%-

3333347 = K, then the sum of the

~ digitsin K is L

(1 10

@1

131

@ 15

Ifs =14 22, 35, 44, 55, 9% then

".che number of perfect 'cubes in
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132; The altitudes of a trianglé are 12,
15 and 20. What is the measure of
the largest angle in this’triangle?
(1) 60° o
(2) 45°
(8).90°

(4) 70°

133. The sum of 13 consecutive integers
is 2015; What is the smallest of these

integers?
(1) 149
(2)152
(3) 124

) 165

110 _

134, If *+—7 =7 %, y and z are
. g+l
z

positive integers, then find the value

ofx+y—z=....

KB-11
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3% 1 ) ’ .
138, If - ey then the value of

1r3°

27°

~

—

=
|

w

6))

o> w

i

@ :

196, If 22 +x+xy=8 and ¥?+y+xy=12,

then the poséible value ofx + Yo
(-5
(2 4

8) -b.or4

46

137, The number of digits in the product
A 92006 5 52001 45 ...
(1) 2016
(2) 2017
@ 2014

(4) 2016

[26]

138. A printér numbers the pages of a
book starting with 1 and uses 3189
digits in all. How many pages does
the book have?

(1) 1506

(2) 1074
(3) 1244
(4) 1008

139. The sum of two positive integers is
52 and their LCM.is 168, then the

difference of the numbers is

(1) 4
2.6
(3):12
@1
140. The number of 5 digit numbers

which are divisible by 8 and ended
“with6is ...

(1) 3,000
@) 34,000
(3) 5,605
@) 7,102
141. The unit digit of 32015 72016 62017,
@7
6
@) 4
@ 3

KB-11 [27]

NMMS ()
142. The largest integer n for which

(1 11
(2) 10
(3) 15
“4) 14
143. Ifa and b are positive numbers such

that a® = b* and b = 90, then the

valueofais........ '
9

(2).1/9-

3) 39

(4) 43

144. The product

1 1 1 ‘ 1
It | S 1 [ R
. {i 22“ 32]{ 42} """ [ ' 20162]
isequalto....... k

' 2017
,(1) 4032
@21
30

) 1
4) 7

'145. How many primes less than 100

have 7 as the ones digit?
4

25
| (36

@7
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HISTORY

146. Find the one who was NOT apart of
Cabinet Mission during 1946:
(1) Straford Crips
(2) Pethick Lawrence
(3) Atley ' .
(4) Alexander ‘

147, Find the WRONGLY matched.
[RNG)) Establishment of congresks'part'y
- 1885 :
2) Hmdu Maha Sabha 1915
“(3) Muslim league 1919
(4) None of these

148. Who quoted "Idea of liberation was
notthat of a state of inert bliss but
rather the pursuit of active life with-
a strong sense of " social
commitment“?

&y Guru Nanak
@ Kabir
(3) Basavanna -
(4) Chokhamela

149. Who constructed the Kandariya

Mahadeva Temple?

(6} Dhangadeva

(2) Dantidurga

(3) Raja Raja 1

(4) Narasimha Varma II
150. Who granted the sole right to the

Fast India Company to trade with

the East Countries? '

(1) Queen Victoria

(2) Queen Elizabeth

() Henry VI

151, Zabtmeans........
(1) military system
(2) foreign policy
(3) revenue system

~(4) none of these

152. The pprtuguese tiavellel“ who
T visited Krishnadevaraya's court

(1) Abdul Razak

(2):Nicolo Conti

3 Domingb Paes

(4) Nuniz~

153 Which 'Indian king said the words
"winning people over through

Dhamma is: much better than

conquering them through force!'?

k (1) Gaﬁthamiputra Satkarni
(2) Chandra Grupta I g
(3) Kanishka
(4) Ashoka
154. Buddhists believe this as a symbol
of universe.
(1) Stupa
(2) ﬁome of the Stupé
(8). Pilldr of the Stupa'
@) Harmika
155, Jataka stories are related to this
religion........
e Buddhism
(2) Hinduism

(8) Jainism

(4) James
B 11

(4) All of these

128]

GEOGRAPHY

156. Lowest temperature recorded on the
earth, —89.2°C is in this place.
(1) Azizia
(2) Drass
(3) Vostek
(4) Alaska

157. On which day does the sun sﬁin’e
directly over the equator?
(1) June 215t
' (2) December 22nd =
(3) September 2374
(4) May 21st

158. The most commonly accepted'

meanmg of Eskimoig ...
(1) snow shoe-melter -
(2) iceman :
3) nomadic man .
(4) the real people
159, Limestoneisused as araw material
in this industry.
(1) Cement '
(2) Iron and steel
(8) Fertilizer
(4) All of these
160. Whmh of these rivers do not join
Black Sea? .
(1) Dnieper
(@) Don .
(3) Danube
(4) 'Vqlga

NMMS (F)
‘161, Lake Tanganyika is in the continent
Of oo, "
(1) Europe
(2) Asia
(8) Africa

(4) North America
162. 0° longitude DOES NOT pass
through this continent;
(1) Asia
(2) ,Eur'ope
(3)- Africa
(4) Antarctica

‘ 163 Whlch of these soilsare called "self

ploughlng soﬂs”‘?
(1) Redsoils

(2) Black soils

(3)-Alluvial soils

(4) Laterite soils

164. Which colour is used in thematic
maps to show boundaries?
(D Yellow -

(2) Brown

(8) Black -

(4) Light red
165, Which of these cities face intensive
‘sun's rays?

(1) Bengaluru
k (2 Hyderabad

(3) Delhi

(4) Bhopal

KB-13 [29]
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POLITICAL SCIENCE

166. Which year recorded the highest
" percentage of voters for Lok Sabha

General Elections?
(1) 1985 (2) 2004
(3)2009 (4 2014

“

167. Find the WRONG statement.
(1) Any ordinary law needs to be
passed by both the houses
(2) Lok Sabha exercises rhore
powers in money matters
(8) Lok Sabha controls the council
of ministers
(4) None of ’th'ese

168. Identify the CORRECT statements

from the following. ;

1) The Constitution defines deers

of the legislative houses:

i) The Constitution cannot be

.changed .~ under . :'any
circumstances '

. iii) Ideals that ave in the preamble
‘are veflected in the design of
institutions

_iv) Laws for the entire country are
- designed centrally )

(2) i, ifi, iv

@ i,iv

(1) 1,1, 1di, iv
(8) i, 11, iv
169, Which of these subject is NOT under
concurrent list?
(1) Electricity
(2) Labour
(3) Iyrigation
(4) Industries

KB-11
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170, Who established Kalakshetra
Institute and struggled for the’
revival of Bharatnatyam?

(1) Rukmini Devi

(2) Balasaraswati

(3) B. Krishna Iyer -

(4) Bangalore Nagarathnamima

171. In which yeai' was the First World
Cup Cricket conducted?
11971 (21975
(3) 1981 (4) 1984
172, How much part of members is there:
in the Legislative Council, those are
elected by graduates?
1 1
W 3 @ 35 =
ey 2o )
(3 8 @ oa
1783. Whatis the minimum age to contest
for MLA? ‘ ,
(1) 21 yrs (2) 25 yrs
(8) 30 yrs (4) 35 yrs

174, Who was the first woman loco driver
*in India? .
(1) Surekha Yadav
' (2) Sarla Thakral
(8) - Archana Patnaik
(4) Padmavathy Bandopadhyay

175. How many seats are reserved for

women in Gram Panchayat

Institutions?

M @)

o O] R

3 (4)

EECTEENEN

(30]
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ECONOMICS

176. 1dentify the major stage in the
process of paper making.
(1) Chipping
(2) Making of wood pulp
(3) Spreading the pulp
(4) Cutting -

177. When were the mobile phone
facilities introduced in India?
(1) 1995
(2) 1992
(3) 2001
(4): 1998
-178. In India, who is responsible for
printing and circulating the money.
(1) Finance ministry
(2) President
(3) Reserve Bank of India

(4) Parliament

179. Expand ATM.
(1) Any Time Money
(2) Any Time Medicine
(3) Automatic:Teller Machiﬁe

(4) Automatic Teller Mobile

180. Identify the. CORRECT option
-~ related to early bankers.
(1) Jagat Seth — Bengal ; y
() Chottiar—Madrds
(3) Shah ;Patna

4) All of these

KB-11

(31



